
Minusrechnen (bis 250 000)

Aufgabe 1

1. 116 860 - 116 685 =   

2. 175 797 - 65 785 =   

3. 212 784 - 103 815 =   

4. 232 301 - 26 345 =   

5. 162 506 - 134 366 =   

6. 233 494 - 167 036 =   

7. 200 115 - 162 383 =   

8. 155 046 - 76 871 =   

9. 120 577 - 46 538 =   

10. 188 015 - 102 589 =   

Aufgabe 2

1. 177 601 - 136 998 =   

2. 227 234 - 195 801 =   

3. 238 677 - 107 571 =   

4. 172 283 - 132 533 =   

5. 227 724 - 130 302 =   

6. 218 741 - 115 706 =   

7. 176 948 - 30 574 =   

8. 219 827 - 150 156 =   

9. 156 552 - 45 759 =   

10. 139 932 - 93 858 =   

Aufgabe 3

1. 218 749 - 118 132 =   

2. 162 163 - 131 327 =   

3. 116 155 - 108 941 =   

4. 229 300 - 153 340 =   

5. 247 414 - 95 783 =   

6. 247 228 - 94 018 =   

7. 209 277 - 49 523 =   

8. 225 481 - 208 674 =   

9. 239 011 - 75 196 =   

10. 173 378 - 159 792 =   

Aufgabe 4

1. 90 838 - 53 945 =   

2. 184 291 - 42 288 =   

3. 113 980 - 71 617 =   

4. 227 452 - 155 920 =   

5. 99 952 - 50 146 =   

6. 228 458 - 130 965 =   

7. 186 727 - 103 404 =   

8. 81 025 - 79 027 =   

9. 230 327 - 43 072 =   

10. 202 689 - 122 778 =   
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Minusrechnen (bis 250 000)
| ANTWORTEN

Aufgabe 1

1. 116 860 - 116 685 =  175

2. 175 797 - 65 785 =  110 012

3. 212 784 - 103 815 =  108 969

4. 232 301 - 26 345 =  205 956

5. 162 506 - 134 366 =  28 140

6. 233 494 - 167 036 =  66 458

7. 200 115 - 162 383 =  37 732

8. 155 046 - 76 871 =  78 175

9. 120 577 - 46 538 =  74 039

10. 188 015 - 102 589 =  85 426

Aufgabe 2

1. 177 601 - 136 998 =  40 603

2. 227 234 - 195 801 =  31 433

3. 238 677 - 107 571 =  131 106

4. 172 283 - 132 533 =  39 750

5. 227 724 - 130 302 =  97 422

6. 218 741 - 115 706 =  103 035

7. 176 948 - 30 574 =  146 374

8. 219 827 - 150 156 =  69 671

9. 156 552 - 45 759 =  110 793

10. 139 932 - 93 858 =  46 074

Aufgabe 3

1. 218 749 - 118 132 =  100 617

2. 162 163 - 131 327 =  30 836

3. 116 155 - 108 941 =  7 214

4. 229 300 - 153 340 =  75 960

5. 247 414 - 95 783 =  151 631

6. 247 228 - 94 018 =  153 210

7. 209 277 - 49 523 =  159 754

8. 225 481 - 208 674 =  16 807

9. 239 011 - 75 196 =  163 815

10. 173 378 - 159 792 =  13 586

Aufgabe 4

1. 90 838 - 53 945 =  36 893

2. 184 291 - 42 288 =  142 003

3. 113 980 - 71 617 =  42 363

4. 227 452 - 155 920 =  71 532

5. 99 952 - 50 146 =  49 806

6. 228 458 - 130 965 =  97 493

7. 186 727 - 103 404 =  83 323

8. 81 025 - 79 027 =  1 998

9. 230 327 - 43 072 =  187 255

10. 202 689 - 122 778 =  79 911
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